
1SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

! For safety reasons, please read this manual 
carefully before installation and use

Installation instructions
Cover holder for outdoor spa



2SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

Reception, unpacking   .....................................................................................................................3

Tools and preparation ....................................................................................................................4

Included parts ................................................................................................................................ 5-6

Mounting ...........................................................................................................................................7-9

Maintenance  ....................................................................................................................................  10

Notes  ............................................................................................................................................ ..........  11

            Contact  ....................................................................................................................................................12

Indhold:



3SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

Reception

Please check that the product has no visible damage or defects. The product may 
have suffered damage during transport. 
If the product has visible damage upon receipt, this must be pointed out to the 
carrier and entered in the shipping note, and then immediately notify it to the 
store where this product is purchased.  

Complaints:
Please note that the voucher for the receipt is for an intact product on the 
shipping note. If you wish to receive the item with a reservation, the reservation 
must be specified in detail on the consignment note before receipt. 
Examples include: Package # 1 out of 2 missing or Box # 3 broken in the lower 
right corner, please then take a picture of the package.

Extracting

Be careful about unpacking so that the product is not scratched or damaged in 
any other way. Be especially careful when using a hobby knife or similar.

If you believe that the product has defects, please contact the store, who will then 
contact Dansk Bademiljø to report a complaint. 

You will then be contacted within 5 business days by a technician who will try to 
locate and fix your problem by phone.

If the technician considers that a service visit will be necessary, this will be agreed 
on the same occasion.



4SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

The tool is not included - and is not included in the price of the product

1

2

3

4

5

6

Tools and preparation

1. Rubber Hammer

2. Screwdriver

3. Wrench

4. Drill

5. Drill bit

6. Pencil



5SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

Included parts

1 Bottom plate 16 22 pcs. caps

2 Stands, left side 17 2 pcs. M8x40 Hex screws

3 Stands, right side 18 2 pcs. M8 wing nuts

4 Angle protector for base plate 19 4 pcs. 1/2” PVC caps

5 Support Frame 20 1 pcs. Safety chain

6 Gas cylinder 21 2 pcs. bushings

7 Support frame 22 2 pcs. rubber washers

8 Right swivel arm 23 2 pcs.M8 nut tricks, round top

9 Left swivel arm 24 12 pcs. 5x18mm screws

10 2 pcs. adjustable arms 25 4 pcs. rubber stoppers

11 2 pcs. M8 nuts 26 2 pcs. rubber pads

12 6 pcs. M8 screws 27 2 pcs. lock pins

13 4 pcs.5x80mm wood screws 28 2 pcs. adjustable sheath

14 4 pcs. M8 nut tricks, round top 29 6 pcs. 5x30mm wood screws

15 6 pcs. M8 pads



6SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

Included parts



7SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

* Make sure you have all the necessary parts.
* The right and left sides are indicated from the front of the outdoor spa.
* It is recommended to pre-drill with the enclosed drill, where wood
screws are used

Step 1:
Screw the Left leg to base plate with 2 8 mm. bolts. Remember to 
turn the leg right (Fig. 1)

Step 2:
Repeat for right leg.(Fig. 2) 

Step 3:
Measure the distance from the outdoor plinth to the outer edge of the 
spa. Position the Angle Belt after this target and mark. 
Note: The support arms should be as close to the spa as possible.
 (Fig. 3)

SpaC
o

ve
r

Step 4:
Use 8 mm. screws to secure the angle bracket.

Note: Turn the bracket as shown in Fig 4. 

Mounting



8SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

Step 5:
Lift the outside rail and slide the base 
plate under until the angle bracket 
hits the base. The cover holder 
should be placed in the center of the 
side. (fig. 5) 

Step 6: 
Place the bearing frame over the support frame as shown in fig. 6. 

Step 7: 
Remove the safety chain so that the support frame can tilt up. (Be 
careful not to hit the holder when the gas cartridge expands. Fig. 7)  

Step 8: 
Adjust the height of the support frame so that the support frame 
flattens with the top of the outside rail (Fig. 8)

Step 9:
Use self-tapping screws to screw the 
support frame to the support legs. 
Holes are drilled in the frame.
Cover the screws with PVC caps (Fig. 
9)

Step 10:
Place the arms on the holder, as 
shown in Fig.10, and fasten them with 
locking pins. The arms must  be 
equal in length. 



9SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

Step 13:
Attach the end piece to the other side. 

Step 15:
Place PVC caps on all screws and nuts.

Step 17:
The lock chain can be used to secure 
the holder in the closed position.
De drejbare endestykker kan drejes ind.

Step 16:
The cover holder is ready to use. 

Step 14:
Use 4 pcs. 8 mm wood screws to secure 
the angle bracket to the base of the 
outdoor shelf to stabilize the cover 
holder.

Optionally, use 4 wood screws to secure 
the frame to the outside of the spa side 
for further stabilization. (Fig. 14)

Step 1111::
The arms need to be adjusted so they 
can take most of the cover. (Fig. 11)

Step 12:
Measure the thickness of the folded 
cover and fit the two end pieces at the 
correct distance.
Screw the end piece into place with 
self-tapping screws. The holes is pre-
drilled.      



10SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

Maintenance

Use regular detergents and a soft cloth for daily cleaning of the product. Detergents containing 
acetone or ammonia must not be used. Likewise, do not use scour cream or disinfectants containing 
formic acid or formaldehyde to disinfect the product.

Note:
the information in this manual is subject to change without notice. The manufacturer does not make 
any warranty obligations with respect to its contents and expressly disclaims any implied warranty of 
good merchantability or fitness for a particular purpose. In addition, the manufacturer reserves the 
right to revise this guide and make changes without being obligated to notify such revisions or 
changes to other persons.

For any deficiencies or complaints
Upon receipt, check that the product has no visible damage or defects. The product may have been 
damaged during transport. 
If the product has visible damage upon receipt, this must be pointed out to the carrier and stated on 
the consignment note and immediately notified to the supplier.

Service needs and advice
If there are manufacturing defects or missing parts, please contact the store where the product was 
purchased, the store will contact Dansk Bademiljø to lodge a complaint. You will then be contacted 
within 5 business days by a service representative who will help you with your problem over the 
phone. If the service representative considers that a service visit will be necessary, the same 
opportunity is agreed.



11SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

Your own Notes



12SPA KOMPAGNIET S K A N D I N A V I S K  D E S I G N  O G  K V A L I T E T

Spa Kompagniet ApS
Sigma 8, Søften
8382 Hinnerup

Tel. 70 27 27 23
info@spakompagniet.dk

www.spakompagniet.dk

Åbningstider:
Mandag till Fredag 10.00 til 17.00
Lørdag: 10.00 til 14.00

Copyright © 2019 SPA Kompagniet ApS
All rights reserved.

Contact




